Option ID :- 2249, ;-

. Rocialequity W s

Option ID ;- 2250,

. Primacy of local languages i wrst w0 e
Option ID :- 2251,

, Esclusion of old languages e s

Option ID :- 219/
Answer Given:- Codifieation of law w1 g 0 e
-2249

® Subject : 87_PART_A_Setl { b S__i' _"E —= -

’

r

, Option 1D :

Question ID:- 325

Consider the primal problem :

Subject ta x, + 2 + &y =10
2y —xy+ 8y =8
Ry Xy 20
ite dual problem is
Minimize tr =10y, +8ys
Suhject to w +2y; 25
2y -xp212
ntdpzd

Which of the following is correct?

Options:-
¥y 20, ¥y unresiricted
L (]
Option ID :- :1?3,/
» 20, 9,20
- ]
Option ID :- 1298,
_ ¥y 18 unrestricted, y, 20
r
Option ID :- 1299,
e - is unrestricied, y, mn-ictod'
Option ID :- 1300,

Answer Given:- ¥120, 5,20

by
Maximize & = fixy +121; + dx; 5-3*166

‘g)Quutlon 10:- 371 M My

~ » Option ID : -:IZDGjn
;l-, Question ID:- 323

The totsl starage capacity of a ﬂ.opp}’di:khnﬁngﬂ_?ﬂaﬂdﬁulﬁ&hﬂﬂ&utﬂti’
183,840 bytes. How many sectors does this disk have?

On;i»nn:s- P‘h % ;L }_rq;;):.’: Z-Qu_o

Opﬁ0;1 1D :- 1289, o %hﬁh) {,.lg_df? »\28 '

X
Option ID - 1291, 0o* 0\“ "PV ;
o 16 \/ nu. J'T J{.
Optinnlnz- 1292,
Answer Given:- E , Option ID : 1291 L> @0 Y \ K-
@ Question ID:- 400 ..? \5'5@-111 o "= _L& '
Given below ave two glatements : one is labellod as Assertion (A) and the other s labelled as
Reason (R} : >
Assemioa (N 7 T)IWL Tﬁ/u
Reason (B) : {r=@,rve, 2 =g, p—>q) )’U/g - P V?{

hmmummm.mmm;m«mmmmm
NP
Options:-
. Both (&) and (R) are true and (R) is the eorroct explanation of (A) <
Option ID :- 1597, /
o Both () and (R) are trus but (K) is NOT the correct explanation of (A) L
nnptlnn 1D :- 1598,
e (A)ilhuht(ﬁﬁlﬂlﬂ‘
Option ID :- 1599,

(A) 15 false but (R) is true
Option ID :- 1600,
Answer Given:- Both (A) and (B) are true and {R) is the correct explanation of (A) , Option ID
1 =1597

L

: . _ (8b= Re
Consider the properties of recursively enumerable sets ©
(B)  Context Fresdon u loci dadole de-'-OW-J
ﬁ}mdmwhm m d,ﬁuM nadl adely

—




T A R S R S S T e

TR

L

Option ID :- 1481,
a Oaly (B) and (C) are not decidable
L

Option ID :- 1482,
s Only (C) and (A) ave not decidable
r

‘-
(A), (H) and (C) are ot decidable

Option ID :- 1484,

Answer Given:- Onb{mlndu)mw&ddlhh o ti 10 ‘_14.3/“
Dq«sﬂm 1D:- 395 bl,
A top down appronch to programuming calls for J

LS
Statement]: _ Working from the general to the specific. \voo( T

Statement11:  Postpone the minor decisions.

Statement TV : mmiauuodmsdthuwohm it "-EI-D-LLJ 'ta'{ﬂo Dﬂ&“‘f

Which of the following is true? Mo vusad ko clodt, 2) Y
Options:=
Statement I nniy djmh'ﬁ

Dptlon 1D :- 1577,
Statement I and Stavement I only
r

]
| Oftion ID :- 1578, .

“ Sutemen@.ﬁtnwmm i gpd&mmn@mﬂ!f
Option ID :- 15797 g
Statement I. Statement If and Statement IV dnly

’
Op‘l:lnn 1D :- 1580, e i
Statement 1, Statement I1 Statement : -1579
Answer Given:- , Option ID 2

e ——————————

) Question ID:- 402

ﬁ#ﬂh“mmmﬂdﬁﬂbm
Avarion *WMMhm

Reason (R):  This cas be dome with either o6 pass ox two pass ssesbler.
I the light of the sbove statatments, choose the corvect answer from the options gives below :

Options:- [,ml..m-tif %0

. Both (A) and (R) are true and (R) ummwm o-‘.

oFtin. n ID :- 1605
3 Both (A) and (E) are true but mimn-m-rw b
-r !L' \

Option ID :- 1606,

. () e rue but (B) s alse N

Option D :- 1607,y 5\(\ \wpeduale €F
: (ﬂhhl-wnktm

Option ID ;= 1608,

Answer Given:- (A) is true but () s false | Option 1D : ~1607

qumlnnll:h-m
me-w.unmmumnmha}er:k-ﬂdn-uﬁth
the relation sppioximately equal. Re is

(A) Reflexive

(B) Symmetric

() tramsitive

msmmmm&-nﬁmﬁmm:

Options:-
. W and (B) only true

Option 1D :- 151.3;/
: (B) and (C) only true

Ophon 1D :- 1514,
(A) and (C) only troe

Option ID :- 151sp
, (A), (Band O trve | :

option ID :- 1516,
M GI\’GI‘II" w-ﬂﬁqﬂm " Opﬂﬂl'l ID H "1515

stion ID:- 365




®

A"

©

List1 List I

A) Stackoverflow - ~ D Soltware intervupt
B Toer . <Al Internal intervupt Al
i€y Invalid opeode ~ S4In External interrupt |10 AL

©) Superior eall e (IV) Machine check interrupt

Which of the following is correct match T

Options:-
, - (By(ID. (C)-TID, (DY-(IV) AG
Option ID ;- 1457,

L o
oL uhw (C)4D, (DIVY .
0*!“! ID :- 1458,

(A, (EHID. CCHIV). (IlHﬂIJﬁ
’

Option ID :- 1459,

L%mm. oD,
Option 1D - 1460,

Answer Given:- (-1 B-AD, ©-¥). @D option ID & -1460

Question ID:- 338 rl“i”o coliad 04 ci veudoo J.gg 7
mk«ﬂdm_—;hﬁmmww ) 2
e L MW flayelem saljakali
, Process scheduliog aud cg_mj: Lol m{,aw,h,a J‘;lq

Option ID :- 1350, ~ (;MWMJ ;

s Atype of thread 2

Option ID :- 1351,

. Anedier

Option ID ;- 1352,

Answer Given:- Troce scheduling o o4ion 1D ; -1349

iy

n
:;';b“ﬂf:;“"ﬁ%"%m s ¢ a Fransadien ﬁa,&h

R 7 My H

Question ID:~ 368

P Wy .ﬁ/ﬁ/

:ﬁzﬁaﬂum&mmr’i 4}' 2, ¥, K the number of page
ocrur in Least Recently Used P ) thin with frame size

Sis fﬂ%ﬂ’ﬁa ‘w_ @ Au 'ihl,.'a'@ﬂ

Options:-

v . Socalidy o Moune abgo . +argel

ace roeand-

o

L sudiuep. i

et GG SR e A o

e o
s e

SRR L T

hux 64

e

Option ID = 1470,
10

L ’

Option 1D :- 147

, 12 Vo

r
Option 1D :- 1472,
Answer Given:- ® , Option 1D : 1470

@ Question 1D:- 370

Consider two lists A and B of thee strings on 0. 1}
List A | List B
1 111

* 1011 10
10 0

Ligt A | List 45'
10 m

011 11

101 mi

Which of the following is true?

Y

Options:-

o Only PCP in X has solution.

Option ID :~ 1477,

» Only PCP in Y has sohution, ,

Option ID := 1478,

. PCPinboth X and ¥ has solution, |
Option ID :- 14797

o PCP neither in X nor in ¥ hes solution. |
Option ID :- 1480,

Answer Given:- PCP in both X and Y bas solution.  gptiom ID : -1479

EE——

@ Question ID:- 399

S AR b NOT ki on chispteatils M?“"cﬂ‘u\d

ophaae RKs (oXiite B ) Gasuliaill

\.,%mpmmen"'r

o Consistency ™
Option ID :- 1594,

: )
Option ID :- 1593, W‘W %

B T A QUBNS




.._-Ri_ninl:t i

.p.n‘u ;oggcns) and -hh‘)-, -"-ﬁﬁ""’)

N = B(gtm)
D AN ~0g(m) ¢ d(m ofewm

Amerﬂlml- e

Hasy

,Option 10 : -1595 1 U AALn >0 (wa[ﬁ Uﬂ,éﬁnl)

Question 1D:- 372 }_
(0} »dn
ListI
s List II

:’ :u“vfmm gt Y () LinkingLoader

s A ~——— (I} Garbage Collection

(€} Reforence count (111} Subroutine Call

D) Address relocation ___(IV) Assembler

Which of the following is correet matching 7

Options:=
o A-CILD, (B)-{IV), (C)T), (D3(IL)
Option ID :- 1485, ;
o AaV). (B)-IID, ccl (. ID'I{m
Option ID ;= 1436
& {A)-(IV), (B, §

Option ID :- 1487,
t‘-}-ﬂll. (BT, (C)-(D), (D)-(AV)

Optlon 1D :- 1488,

Answer Given:- A-IV). (B, (C-@. D-ID  gption ID : -1486

J-(I0). (D)-{D
'

L)

Question ID:- 317

ckand 4 red balls, Second box has 8 white.
lack and 3 red balls, A box is chasen at
anﬂlumimuthepxnhnbmty

There are three boxes. First box has 2 white. 8 bla
*mﬂmdzmmmbﬁmiwmlh
nndnmmd"ba]hmdmwnwldwhnhlmwhm
that the balls came from first box?

Options:-

. 0.287 .

optmn ID :- 1265./
= 0. 7"3

Option ID := 1266,
0.18

- r

Option ID :- 1167?{}
0.452

Optjnn ID - 1268,
S S 0.18

) ')‘{Cn;

@D fin)=olgin) and glo)=olbln))= fln)=olhr)

9 hr=olgd
gkt )

3l -0 f&m’)

l@

Question ID:- 357

57 lowhaud
mmfﬁhﬂ:himwwml‘ﬁ mrvmc-

e 502 81300 149
ption 1D :- 14 : ﬂ[al” 9[{0&1)
, [{n)=0igin)) and gln)=Ehln))=s fin)=OlH))

Optlnn ID :- 1426,

Option ID :- 1427,

fin)=wlg(n)) and gin) = cfhin )= f {n)= QAR ) (il'("'
L] r
Option ID :- 1428, 1 i

Fln)=0Cln) and glo)=0lHn))= Fln)= ol m,ag*.),.,, 3 L’V’ﬂ

Answer Given:-

Question 1D:- 397 U’f 7
Mmmtuw.mmmmms }A& dt‘ﬁJ
T yiaS—

Statement]:  CFLis closed under homomorphism. j'_d}ej.ﬁf."‘&’r j
s DV

Sctement 11;  CFLiscosedunder complementy um,?hnwr

Whiehofmthllowin;hﬂ_m‘.'

Z, 9‘5159?') (otad Q,L;VLSP\E&QJ

Roand)

\QC

Statemnent T is true and Statement 115 false
option ID :- 1585,
gosmmtllhhw:md&atﬂnemliihh .

Option ID :- 1586,
|} Both Statement | and Statement I are
] ._._.--""-'
Option ID :- 1587,
N.ium Statement I nor Suwwﬂfg_!ﬂg/g,

Optmn ID :- 1588,
Statement I is true and Statement 1113 false , Option ID _15“

¥

-

L

Question 1D:- 359

The number of nodes of height h in any n-element heap is atmost:




. %n‘]
-

¥

Option ID :- uaat ¥

e ;
i

L

L
Option ID :- 1434,
n
e

OWon ID :- 143
n-1 5}}0

. '
Option ID :- 1436,
L

Answer Given:- ~

1

3

O

ption ID :

@ Question ID:- 374

-

S

(A  two parsetrees
(B) ‘lﬁlﬂ_hnmutdeﬁ\mﬁm
© mwmd&wnm

g

T iz
< C

Options:-

o All{A). (Byand (C) are true |
Option ID :- 1493,?0

, Only (B) is true ;

Option ID :- 1494,

Only (Cyis true |

e

Answer Given:-

Which of the following is correct?

=1435

P Caongider the grammer 8 — SbS|a.
Consider the following statements:

o @

A

All (A). (B) and (C) are true | gption ID : -1493 \

Qchtlon 1D:- 350

Wd’ﬁ"‘"

Which mode is a block cipher implementation as a self synchronizing stream cipher?

(FB mode
QL QUIv

Q)b

Wauucmum’
L 4

1, Cipher Feedback M2
Option ID :- 1398,
Electionic Cod Mods
L]

Option ID :- 1399,

p Output Feedbark Mode
Option ID :- 1400,

Answer Given:- U‘P""ﬂﬂiﬂmm s

¢ Option 1D :

Question ID:- 339
This transformation is called
r b oa d [,

e b | |»|
a b o fl
Ll

2 ek
Options:- M
Sealing — 91—, doudaly

aption ID :- 1353
. &Q—& é—\g *ﬁ'ﬁ—

Olrl:ion !D - 1354,

L {1

=|

Qe

Dptlcll'l 1D := 13§§(
&eﬂnwhar

Option ID :- 1356,
Answer Given:= U™  oosion 1D : -1353

Question ID:- 335 ( o\ AOV o

Pointers cannot be used to
Options:-
, find of a variable in memory T’ﬂ-Q_

Optlorl ID - 1337,

Goton o - @ s

Option ID :- 1339,
manipulate dynamic dara structure ‘T
L] e r

Option ID :- :W




PRERT -__rmnimmmduam T R DT SN F;.ﬂhal%i 2
Answer Given:- ; Option ID 1 =1340 @ t . G
__.H'"I-__-_ e I —— —e e H ; '_
@)Juullon 1D:- 385 Pault base testing techaique s d‘"“qpﬂ. L
.. kg 5 Optionsi= £ T
Mmteh List T with List I ;
. _ & "Iﬁlﬂll' i d ‘N i
Lise 1 List 1t Option 1D :- 1365, ‘.ﬁlj 35
{A) Least frequently used M Memory is distributed o P L . l’“‘/
at ademory s AIL0NE processo pﬁﬂu ID ;- 1366
{(By Critial Section (I} Page replacement policy in eache memory ﬂmﬁ g
(0) Loosely coupled multiprocessar (II1) Program section that omge begio must
system complete exeeution before another processar
actess the sanse shared resouwe
(11 Dmribuu-i operating syotem (IV) D-'S_ routines ave distributed among
organization : available processors. /ation testing o e
Choose the carreet answer from the options given below : , Option 1368

Omtione @ Question 1D:- 331
AT}, (By-(E, (C)-IV), D) Gonsider the follewing NPDA = 'll- ﬁ-l;H"-ﬂ-ﬁ-li‘- lk'-ﬁ.r’ b
Option ID - 1537, ' k

(04, B)-ID. (O, DAV | Moﬁ San =)= flay =}
Option ID :- 1538, lae ) - fa, 126} '
(D, (B)-ITD. (©-41). D)-0V) ) q}ﬂd’” B 1) = w211 o :
el L | Ryl g (4 & 3
Option ID :- 1540, : W oy )=l 2 m‘p.‘ ./ KA —ptf
Answer Given:- W10, B, (€. D-AV)  gption ID : -1539 mhhdmhuntlwl.h neceptad by NPDA?
_ ¥, UDT, [CHT, 1Px #peP Netiics oy kad dovp 4 P Sdde (5\@4%?

Question 1D:- 351 ' Ex
Which one isr ioriless transport — layer protocol that belonigs to the Internes protocol

family? —

QN LA
) | options:- W%W ,U%T\ﬂﬂm&w M@Uv&f}

=

i . God bbb b &
o Do st Ly b gt T Lt an i
it bt give aguaad® of fomemmesh Dy
Option ID :- 1403, Ml ados (K : Answer Given:- ©~F © "=%  option ID : -1321 il
. Datagram Control Protocol (OCP) | s ICMf | .'ﬁld;f’p(._ 2 . nID:-BdO fu !

~ |option 1D :- 1404, ;



A i D i
Option ID :<{1357, . ’
. Relative Application Developnisnt Option l:l:I = 1422, c
Option ID - 1358, o e it
Raid Aplctin s b s .
. ¥
Option ID :- 13‘59, :.Iptlnn ID = 1424, 3
g ; ' Answer Given:- hﬂlﬂlltﬁlﬂﬂ' Option ID : -1423
Option ID :- 1360, e
Answer Given;- 1epid Application Development , Option ID : =1387 @)quntlnn ID:- 373
- Question ID:- 382 Consider the allowinng related to Fourth Generation Technique (46T) : y
Tt controls effarts. -
@ Match List T with List 11 - _ ?w,,,% D
(B) It contrals resourcws. A 4
ListI Lise 1t Bl it g
| € T controls cost e¢ development. LotV :
(B) Packaging or b a collection of Abatraction W P
(C) Mechanism that enables d W (D Charactervistio of software  that » (A)and (B) culy , : : :
focus on essential details of a program indicates the mannor in  which Option ID :- 1489,
i component. ™ information i concentrated in b
=% Progran: » (B)and (Chanly
_4 iD) laformation hiding {IV) imunn.mw;nﬂuua-mut Option ID :- 1490,
= PROEIAIL compone o« (Chand () cnly
:; Choose the carrect answer from the options given below : ) Option ID :- ’-""I-r
s o 5 &1‘ c—n - Mm m}‘“lc}
% npﬁ;:'{'m-m (C-0, )-qV) oo s D kb“:ﬁh N[ 1z,
+a ption ID :- 1525 : : Pbgﬁ“}%% : GJE coV Anaar Sen e R M o vz
% v SAEL O O AR | CD:#IJ’_ Question ID:- 381 3"-"[3:—5 L'HS S'l!:t.1
.. |optnmTiszs, S | BN 1 He i (@
j+9¢] Puu-nm:. (Ba-(I). @m:-@ ) W’d \/’ Match List 1 with List 11 : Sk i 3
& e — ?7“3‘ i Sl N o T
T o ©ve gy ¢ Tl
s ! . B b (D410 : - 17‘{;‘ s ‘ !
] Option ID :- 1528, Qua (&) BONF @™ T ; N'_Eqﬂ""l dep,
3 Answer Given;- AL BHD, (CHAD. DMV gotion 1D : -1527 @) - NP % Tt not always dependancy preserving Pami PP
= il # o (C) 2NRF It removes wansitive dependency .
] uestion ID:- 356 @ 4NF It removes partial functional dependency | AJE- -
- Which of the following is correct for the destination address 44 : 80 ; 10: 21 ; 10 147 Choose the corvect answer from the opticns given below: E: No uk

UJ Options:= .
"""tﬁ'“"";d Jwalk W \a) O 0-Q AC ST | o -G, (B0, (419, D)0 YNFS o ok ok
o umicast address | 149 !é v 5 . .

—SHEA—plooin-dapelliy
Wb (st ‘Qm,g, 120000 T 224 Ul wy -




14
g4
&

|

@ﬁueﬂinn II;I':- 352

Option ID :- 1521,

o VAN (B)-(0V), (CpD), (D00 :

Option ID :- 1522,

D, B0, (G- V), m}m:']

Option ID - 1523,

O, B0, 0T DO |

Option ID :- 1524,

Answer Given:- A-ID, (B0, (C-IV). -0 Whl‘l 1D :

-1523

1D:- 386

1

Mateh List | with List 1T }\smmw ? Eg \
5 e B A WD
List 1 Tise 10
(A) Firmware e __I.Il
B) Batehfile ~—
(C) Packing

Number of logical records into physeal blocks
+ (D  ASCII Format

Options:=-

. (A)-an. @)-m, mmn@ :
Option ID :- 1541,

o (AR (B)-(T). (Ci-(TI), mj-uw‘lp

Optign ID :- 1542,

5 @ (B)-(ID. lm{h@
D i- 15

g @m . a.cum@

Option ID :- 1544,
(A)-(IV), (BI-(ID), ¢C)4I). (Dy-{110

L

Answer Given:- » Option ID : -1543

Y

SO _JotehN\e W"‘“\

Consider an error free 84 kbpa. satellite channel used to send 512 byte daia frames in one

direction with very short acknowledgements comsing back the other way, What i= the
maximum thigaghput for window size of 157

Options:-
L. #n-' f

Lonutrk— Dodd fyome Sine, b bilg

Option 1D :- 1406,
m —_

ﬂptlun D - 1407, i

o T0khpa

Option 10 i~ 1408,

Answer Given:- K95 option 1D : -Ilﬁ

@Mm‘hm '

Given below are two statements :
Statement [ :

Logl b

Grandporent illﬁl‘wlw r h l-‘ 1[!
mwhﬁnhmm&

Statement 1T
£XE

Options:-
, Both Statement T and Statement TE are carvect.
Option 10 :- 1613,
o Bothi Statement [ and Statement 1 are inporrect
Option ID - 1614, < e
o Shatement Tincorreat but Statement 11 ia incorrest.
Option ID :- 1615,
Statement I is incorrect but Statement 1 is carvect
o r
Option 1D - 1616,

Answer Given:- Eoth Statement 1 arid Statement I are correct Option ID : -1613

,VMAQWK%WW%f
I“Bn.u] V"'L'-'J-"ls.

Qﬂbﬁ&l
bllfi-lo h'e

f -rl'

2 =2y 4f e

In the light of the above statements, ehoose the mosk appropriate answer from the options
ghvast Bolows : i i

@ Question 10:- 380 ) st

}0 In refovence to Big data, consider the following datsbass |
(A)  Memecached
(B) CouchDB
(C) Infinite graph
Choose the moit appropriate answer from the options given below :
Options:=
Wﬂlﬂ-ﬂ}ﬂh’
UFﬂDﬂID!"I.Si?

BT

£ l't.::l_.-*l_ it

R o




(C)and (AJonly ' For = e Ny B Sy

L

Option ID :- 1519, @rq"-“"“ 1D:- 390 G o T s e T
o A0 ad (O | Consider vhe following algorithms snd their runnkng times |
Option ID :- 1520, ' :
Answer Given:- B8 (Qonly gorion ID ; -1518 0 P P B mv-l ::;i A CF
” ~\| Question ID:- 366 A y5,C "-J| s__ ; | T.v] * H (B) Rabin-Korp Algorithm Olv+=E} (L) ;
(C} Depth-First Search (I & ~m—Ljm)
mnmmmmhara.mmm-urham td‘drpandmdu (worst
ZQI F ={4 - B,ABCD — E EF -G, EF -+ H and ACDF - EG}, m:mmﬂmdlm P). Haap s — OGe')
of functional dependencies is N\J Gl &,,. (E) Quidk sort (worst. Ofnlgn)
s Which one of the following is cornect *
Optians:- b
“+B,ACD + E.EF —G,and EF —H (X un2 Options:-
Optionllh-uﬁl,_/ pc o C)CD, (B)-(ID. (CHD. DHIV). (E)-V)
A—B,ACD -E EF »G,EF »Hand ACDF -G (.| Option ID :- 1557,
B TR - y stleed . (ARD, (BHIID, (C)D. DHIV. V) | U3med 1 1@
A—>B.ACD > E,EF G, EF - Hand ACDF —E Option ID :- 1558, %l = 2
$ ! (A)-(II). (B)-(III}. (C)-(D.
Option ID :- 1463, " tion ID - 155 ! 4_
4~ BABCD > E.EF > Hand EF G Iptien g plf a2 Mor\ =
Option ID :- 1464, - ’ An~= \
Option ID :- 1560, Gl
Answer Given:- A~ BACD S EEF <G, EX 3 Had ACDF G gption 1D & -1462 Answer Given:- AHID. (BHIID. (CHD. DMV, BN | gotion m.-m,

o)
1)

L)Quunon 1D:- 327 i Questian 0% 362 A\ wel 115

The reduced gramumiar equivalent to the grammar, whose production rules ave given below, is

Onudj the hash table of size 11 that uses cpen addressing with

8 —=AB|CA Let hik =imd11he1lehuhfmm.imdmﬁ-ﬂhﬁ: 92.57. 1L

47, 11, 13, 14 is inserted into an empty hash tahle. the bins of which are mdexed

B— BC|AB from 0 to 10. What is the index of the bin which the last record is inserted?

A—a O] *“l‘\td*
Options:- \

C—aBlb s nl !E \\Mlh
Optlnn ID :- 1445

Options:- 4 3 ﬁ \3 w_;.l‘.'l 51

% 3—*&?\.&—#&.0%5 owmln.-l“‘/ s —m k

Option 1D :- 130 \

e R e . A= &, O—aB|b . l A
, S—CAIB.B—BCIB.A—a. L s b [\ R
Option ID :- 1306, ‘b
,A=a, C=aBlb
S CA|BB—-EBC A—a 1 ; D II:D:'I.

L]
Option ID :- 1307}/

i

Answer Given:- ' , Option

3 85 +ABIAC.B— BC|BA A—a C—aBlb y

Optlorl ID - 1303, Quﬂ'ﬂoﬂ 1D:- 319
Answer Given:- 5 CAIB.B—+BGAa.CaBlb  guton ID ; -1307




For multiprocessor system. interconnection network ~eross bar switch s an example of

Options:-
i Nubhﬁ.m' 3
Option ID - 1273, -
Blocking metwark ’
Option ID :- 1274,
& m-ﬁua—mum,
Option ID :- 1275,
Recurrent network

Option ID :- un.‘;f

Answer Given:= hours « Option ID : -1276

@ Question ID:- 341 QIR an‘&

If every requirement can be b;amu-m&wpmdmﬂlwi;ulhd

e
Options:-
] 8=
¥
Option ID r@@/
2 Tracahle ',5
Option ID :- 1362,
Modifiahle
Option ID :- 1363,
o Complete -
Option ID :- 1364,
Answer Given;- “erifiable Option ID : -1361

Question ID:- 321

menumh&rdmwmmmﬁaew ABC +ABCD+EF + AD is

Options:-
12

¥
Option ID :- 1281,
13

Opﬁn:\mt-llll,

(@ Trpe? Linear bound automata
D} Tepes, Pushdown automata
C&mwmmmmnﬁnﬁum:

Options:-
o (AHIID. (B). @), (1D, D1 |
Option ID :- 1529,

-, (B)-a). ¢
Option ID :- 1530}
 (-0ID. BTV, 0. D
Option ID :- 1531,
o Q-0 (B)-(I), (C)-(T1), (D)-(V) ;
Option ID :- 15332,

-1530

Answer Given:- (4-0D. B-(ID. (C)-(V). DD , optign Ip :

o




T 1010101y

Option ID i- 1277,
aien

Option ID i- 1278

(1011100 t 0 g-a b:rr’
option :n - 1279, By ALY g O?M 5.8”‘

(1110000)
-

r
Option ID :- 1280,
{1111001)

hv““

Answer Given:- , Option ID : <1278

Question ID:- 328

(&

Consider the production rules of grammer G:

8§ -+ AhB

A= nAblL

B—bB| &

Which of the following language L is generated by grammer G?

Options:-
L-i:‘b" mz0,m :n‘
L
OFtion ID :- 1309
, LeB™ mzomz0}

Option ID :- 1310,
e {c'b'-nznr}

r

Ogon ID :- 1311,
‘n‘i" ukm.m:-ﬁ‘

Optlon ID := 1312,

Answer Given:- L= :nz0m>nj

e

, Option ID : -1309

uestion ID:- 348

Which of the following is an indirect measure of produet?
Options:=-
Qunhu

Opt!an ID - 1389,
2 Complexity
Option ID :- 1390,
3 Reliahility

Option ID :- 1391,

@ Qll.lllﬂ;O!llD 32;1

Consider  logic gata circuit. with 8 ioput knes (Do, Ds ... D7) and § sutput oes (s Au A9

@- Question ID:- 333 Q_‘:;\,.Aﬂ. Wy Lap

‘RSA’ algorithm. if p=13. q=5ande=T. the value of d and cipher value of ‘0" with

m&‘f“ﬁ

R
Option 1D = l‘ll;.q‘ :
Answar Giveni- e » owan ‘lb 1 -1.'392

specified by following aperations
“ -D.a-ﬂrt.l).-!-nr

ﬁ .D,*D'&D.-rﬂ;-
Ay =Dy +Dy+D;+Dy

Where + indicates logical OR operation. This eircuit is

Options:-

Fp' BxB m:lﬁlﬂlr‘

Option ID :- 1285 o
Decitual to BCD m;uur‘}‘ b"-*_

Option ID :- 1286,

2 Octal to Binary encoder i

Option ID :- 1287

3 Priority encoder ,

Option ID :- 1288,

Answer Given:- " ’ , Option ID : -1287

prl;iun 1D ;- 1332,

Question 1D:- 375

n) key are
Options:- h= ?'* i ‘:Pf'") o @—- D %‘0
T4 ’-‘-_\’5)#? = ‘7—*14:,142
Option 1D :- 1329, 6<
4
;lptlontl):-:l. \LCLQL‘)
e =) \ Mﬁi
Option :l. - 1331, [..& * €3 4{'“
T‘U D :- 1331, - $ me' MAA

Ui Quuttet™ =
Answer Given:- ' , Option 1D : -1330 ‘b,'m\:u\‘( el o

3 wed

\$O ‘..




¢ yor et b L
u....mmmmﬂtﬁi-nmﬁﬁw !
(M) Root (01 evel
((B) Blevel
@ Blevel
D) Depends an utility value in a breadth first order
Chosse the earvect answer from the options given below :

Options:-

(B and @ aly =5 (S'}Tf)
Option ID i~ 1457, -

. Wand @ only

Option ID :- 1498,

, .mmd Goaly

wm?m [ 5y v g iz »
, isod D)caly o
Option 1D :- 1500, S
Answer Given- MemdDioly oopan 1 : 1500 i

Question 1D:- 355

D™ {4 6 stape pipatine boe s stape de 25 150,120,160 and 140 s reape . nid-t—
mﬂmmﬁmg:h;&:mwn L

Options:-

a 1805ms

Option ID := 1417,

o 1650ms

Option ID :- 141

4 m-,

Option 1D := 1419,

4 a&Mﬂ'

Option 1D :- 1420, "
Answer Given:- 185.56ms  gpyion ID : -1418 :

@}Qualthn 1D:- 345

Size and complexity are a part of




1 AD pupeline ean be solved with

e dpgg ol
Lt

-1325

estion ID:- 378




oﬂlﬂt‘i’“t I talse
amnwmwﬂm: ”

option ID = 1578,
WLWHMMMMIEW f

option iD= 1571,
Seatement Lwn-dwmwyg

Dpﬂuﬂ 1D == 157
1 1. Statement [T and Statement III trus , Option ID : -1572

Answer Giveni=

IS

@):umtm 10:- 392
Consider the following statemants of approximation algorithm ¢

Syatewment I Vertexcover is & polynomial time ¢-approxinistion algorithm.

TSP-tour is ‘& polynomial time S-approxtimation algerithm for rravelling
saleaman problem with the trisngle inequality. .

Statement [1:

Which of the following is correct?

Options:-

Statement [ true and Statement 1T false
L] r
Option ID :- 1565
Seatement I and Statement II true

L] r

Option ID ;- 1566,

z Statement I false

Option ID :- 1567,
Statement I and Statement II rana

ﬂpt:on ID ;- 1568,
Statement I and Statement 11 orue

Statement 11 true
r

Answer Given:- , Option ID : -1566

@ ;!U!lfilm ID:- 39‘8

Consider the following in Boolean Algebra
X: avipafave)=(avbislave)
¥: anlbiand)=(entivian)
!’*“h!)"‘fﬂﬂh“‘hlﬂhﬁli

Options:~
wwﬂc
optlnn 1D :- 1441,
- Back Teacking |
option ID - 1“3.

.ﬂpﬂm ID :- 1443\;/'"
Greedy npproach

L] (]
option ID := 1444,
Answer Glvanic DRt sl SEREEE" . Option 1D 33443

Question ID:- 391

©

Conmder the following:

List 1 List 1T
(A) Stack algonithm I} Dendlock
(B) Elevator aleorithm {I)} Disk scheduling
(C) Priority acheduling algorithm  {(Iil) Page replacement
(D) Havender's algorithm {IV} CPU scheduling
Which of the Iollowing is correct matching?

Options:-
o (A, (B)-a1). (C)-av). M)-M

Option ID :- 156
mmmm

OEHnn ID_I- 1.“!.




ELASIT), (B-{IT), (Cr-dl). (D)TVD
Option ID = 1564,
Answaer Given:= (A, (B0, (C-{IV), (D)-{D , Option ID : 1561

r

Question ID:- 377

Let (f.b}#) be & semigroup, where @ a =b.
Ay asb=bea &

B b=b=b
Choose the niost appropriate answer from the options given below :

Options:-
o Aonly true
Option ID :- 1505,
[ ] mwm,
Option ID :- 1506,
o Doth (A) and (B) true
Option ID == 1507,
o Neither (A) nor (B) trus |
Option ID :- 1508,
Answer Given:- Bth (A s0d ) trve ootion ID : -1507

\@}Qunﬁnﬂ 1D:- 394

Gonsider the following statements:
StatementI:  Composite attributes cannot be divided into smaller subparts.

StatementII:  Complex attribute is formed by nesting composite attributes and multi-
valued attributes in an arbiteary way,

Btatement 11 : A derived attribute is an atteibute whose values are computed from other
attribute,

Which of the fllowing is correct?

Options:-

¥ Statement 1. Statement II and Statement IT1 are true
Option ID :- 1573, :
. Statement I true and Statement I1. Statement ITT false
Option ID :- 1574,

r

~ Beatamient I, Statement 1 irus and Sustecsent 111 fales

Option ID :- 1575,

2 Bratement 1 false and Suntement 11, Sustement 111 tras
L

Option ID :- 1576,
Statement [ false and Statement 1l, Statement 1] true

Answer Giveni- » Option 1D : -1576

Question ID:- 334
The condition num! = 65 cannot be replaced by
o —

Options:-
o DU 05 || mum <80
Option ID :- 1333,
o [hap==0R
ovtlnnmr-lm:
-w—u
ﬂntlnnml-
, foumgy
Option ID :- 1336,

Answer Given:- "™~ % option 1p : -1335

Question ID:- 376

Consider «. Iq -wmmmcmmwmﬁ

@ nbvieleivesd)  Aichnbahve (o
® (avps—avp [dpe
© (espeipo-a)
D (Havpsla=-p)
‘-"l_—-/

Options:-

o (Aband jonly

Option ID :- 1501,

x (B) and (C) only

Option 1D :- uo:,
. @ and () only

Opﬁﬂn ID := 1503./
{B) and (D) enly

ption ID :- 15;14,
Answer Given:- AediCloly oo 1D ;21503

10



1)

b estion ID:- 384
| Mateh List Twith List 11 -
Lim I List 11
{A) Ontologicol Engineering (1) Organizing subelass velations
{B) Taxonomy Hierarchy (I Organizing knowledge inte categovy and
ub category
(C) Inhertance

(D Attaches & number with each possibility
D) Probability mode " (IV) Representing concepts, events, time,
phyeical concepts of different domains

Statement | troe and Statement 1T false
[ ]

Options:-

o (AHID. B-D. -0V DL

Option ID := 1533,

« (D, (B0, (-0, D1AV) |

Option ID :- 1534,

o (A-V). (B)-GI, ©-D. DI |

Option ID :- 1535,

o MO, (. O, M)

Option ID 1~ 1536,

Answer Given:- “V-IVLBLD. (C)-aD, @M

, Option ID : -1536
@ Question ID:- 369 . Losicel ehsion
A magnetic tape drive has tranisport specd of 200 inches pos second and & vecording dessity Option ID :- 1393,
of 1600 Bytes per inch. The time required to wiite G00000 bytes of data grouped in 100 _ﬂmmﬂnhmlinn‘ﬁ'
characters record with a blocking factor 107ie Option 10 :- 1394,
Options:- = '
20825 ssc Option ID :- 1395,
L ] » . 2 y w. ]
Option ID :- 1473, o 1 FOTE PRI ¢
. 28l Option ID ’
Option ID :- 1474, Answer Given:- "8 Option ID : -1396
i ' Question ID:- 401 T
Option ID :- 1475, ' ;
. 26150 se0 T _ .

L
Option ID :- 1476,




e R = ; . Option ID - 1455, R L e e 4‘

Option ID :- 1602,]7 u : :
. Failing to initialize/counter and total variables before the body of loop , Dferpiion. L ighewtatien
Option ID :- 1603, Option ID :- 1456,
E Using commas instead of two required semicolon in & for loop header 'iﬂmy E,“JW A Given:- 2 left yotstions, 3 right rotations , Option ID : -1454
Option ID i~ 1604;
Answer Given:- Dividebyzem  gpotion ID : -1602 @ Question 1D:- 405
@ Question ID:- 318
;\" mnmmmmmuamenrnmmm
aad n number of banks, then the average data access time per word access in synchronous
e e
Options:- :
T i
m.—form <<n
II{T; # ' r B})}‘)
1 m>>n v ’ M -~
on ID :- 126 \ ; lﬂ( ;
:-{r/nh”“' MWI : Statement TI;  Instruction represented in above format can perform braseh in
R i WV o i R Uy
Option ID :- 1270, D\. N ‘ Iymeﬁshtﬂmm-mwm“m;-whhﬁ_
tt"}';!grfnrm<<a 5 ‘UQ’ D\M ,_) given below :
} m>an o
. g ’ l}’" \\p&’n Options:-
Option ID :- 1272,0 QoA 0 ") Both Statement | and Statement II are corvect
3 _[mT forme<n 9) \ Option ID :- 1617, 5 ’

é=
: |34 foem >>n ~5 Both Statement | and Statemens II are incorrect
L] ’

Option ID - 1272, gﬁo—”‘d M{ d\w %W‘) ?": e i SRRSO : : o

% [mT form <<n .\
=1ftnr - - o)
SIEmI=E option ID : -1271 ﬁ\\v‘{ft Option ID :- 1619, A

= I - N s , Sttement s insorrect but Statement I icorvect |
:?" Question ID:- 364 Option ID := 1620, g
] o i e i et o . L. e e i e e
; “85..50. 40, 25. 50. 60. 78,20, 28 e me&@_@&‘”‘ 5 \ @ Question 10:- 389 31~ L 3 B

Dption.s;: 2

 2left rotations. 2 ight rotations E)P// L z
Option ID :- 1453‘/ s Q__l

, 2left rotations, 3 right rotations 6(’(/0 \p,‘x

Option ID :- 1454,
3 left rotations. 2 vight rotations 1 \}M
. ’ &? /"/‘




Mnteh List Twith List IT:
Last 1 List I

f‘:LuJL“ Physical layer o kmm\d‘thnuﬂld:ﬁﬁtwmwmm
=t - o act ns network controller fior reuting data
CoafB  Datalink layer () Make and hreak connections. défine voltages nnd data
b P vatas, convert daty bita into elscirical signal
{_‘l.‘«;’% Network layer (I Synchronization. s detection and. corvection. To
\ mmhkmtpiu_m' frames.

Mhmmmmmmm:

Options:-
(AIV): (BR(IID, (OHID. DD |
Option ID :- 1553,
o (A-ID. By, (O-IV), @D |
Option ID :- 1554,
. A-IV), (@0, (60, DI |
(A, (B-AID, (€D, D)WV
ption ID :- 155

@mmm-n?
Emnp:_:u‘n[mdon m.mwachﬁdmmumuﬁnﬂm:hl-pnmtwwmhn

hmmnluithilphmmhunedn-

Options:-

Option ID ;- 1345,
Cascading termination

l.:lpﬂon 10 - 1345,\'/ '7.0""'%"“' >

Zomhie termination

L] " . N 4‘_‘
Option ID := 1347 b & ,16 e,n’ﬂa 1S

L Process killing >0

Option ID :- 1'34;,

Answer Given:- ; Option ID : -1347

Yoo 070 045~ U’w,
T i\e im ald covtimuestof

(‘I\g Qucﬂlnnlgz-m

@ Question ID:- 363

'mum:-. "' ?
L] i [ 3 ;
Option 1D - 1341,
. hender £ ¥
Option 1D - 1342, 5 &
} ? E

Opthl‘llﬂit-lm,
a namespace £ \
Option 1D :- 1348, |
Answer Given:- Wfﬂﬂﬂﬂl‘“"ﬂ“? :

i S
tnovdes —ECRanGDEELS | Qeek €

mammumwm

Options:- (= B o

2 EIFJCEGLHDBA : :
O'PEMID = 1449,

_ FCGELHDBUAE
Option ID :- 1450,
, FOGELHDBAEL b "
Option ID :- 1451, p\FW‘?—

. IEJFCGELHDBA | L"?t-
Option ID :- 1.452),/

Answer Given:- [EJFCGKLHDBA | option ID : -1452

R @ Question ID:- 316

m,aum‘tmkh&ﬁndum.ﬂmﬂﬂ?mt&ﬂlﬂmMHW?L?&P‘
mmumnl.ummmammmmmmua
0.3 respectively. ﬂ.mmﬁtmﬂlﬂmnn P3 with CF 13 0.5. 08
um.mmmamwmm;{m

Options:-
gl crmzm.armmm -




---q.ﬁ_zm_
~CF(R1=08), CF(R2=0.85 : e ———
-

Option ID 1~ 1264 : @ Question I0:- 384
Answer Given:. OF 1= 019.CFRI=089 o p0n 1p 4 11263 Which layer divides each message into packets 4t the souree and re-sssembles therm at the
L B -__--_-__-_‘_-'
9 Question ID:- 387
Options:-
Martch List I with List 10 : , Network layer 3
; Option ID :- 1413,
e
B TS @ By Option ID :- 14
(B) AES Eey sire - 1024 LQ 2 ¢k [Ow/2“ Data link layer
€ SDES_ /() Keysize-58 U], \ %h Gpﬁonlb 1415.
® REA/ |_(W) Keyaine-168 113 199 6 Physical layer
DES  H0ES Joull Option ID :- 1416,
Choose the corvect answer fram the options given below : Q-’ ption b
uaw Answer Given:- TPREINEY o pyon 1D : -1414
Options:-
. (A, B)(D. €IV, D)-am r '“QQ -)‘fn' \S\’L s P I? - MBC
Option ID ;- 1545, : Alpha and Beta testing are forms of (M J
o (AIID. (B0 (V). DD Q
Option ID :- 1546, N o \Rpiiarom — U Options:-
. (A0, B0V €OH0D. DID O { %\e' t £y o White — Box Testing )
Option ID :- 1547, Option 1D ;- 13_8!, <
. ATV, 8-, (-0, D) R
Option ID :- 1548, - Option ID :- 1370,
~Acceptance Testing
Answer Glven;- I, B-D: (C)-(AV). (D)-0D Optlnn ID : 1546 \A 5 '

s;rmm Te-hng

St Xy ol 2L 5 SRR e T e Option ID 1
)Quution ID:- 346 -t £
Dptinn 1D :- 1372,

Whith Metrics are derived by normalizing (g
mndonn;thamutthnhﬁmﬂmhubun prodtced?

Answer Given;. ¢°Ptance Testing Option ID : -1371 \
g,

Pw r.ug Ml.t]';(_f AP A, T 2 ) Question ID:- 353 i 1\ x
ptions:- .
?Fm:::n—ﬂrimuducuiu : Clhusacherich g £ Sl ‘Q-Q*PM@
Option ID :- 1381,
tion — Paint Metries

A claasless address is given a3 167.109.170.82/27. The number of addresses in the netwark is
e —

e X Produd= MeNjig—~ phecsine. cla . £ |options:- o~ 172
e L 1 Produd e Unagigniy et e 0 2
Option ID :- 1383, Ouety ‘(—(7 Ma,jm(g. 4—3 | 2 0daressen | 1aL-- Y =
Sz Oriented Metrica _~ o;;t;nn ID :- :au.q/// L UL~ ‘2,"14 '1..’35-.
uptlon ID: addresses
bnswer ew% Puist Mt o otion ID | ~1382 Option I0 - 1o, { ")’7"'9

S _,?."3.?_»

W appey




. Waddromes
Option ID :- 14132,
Answer Given:- 2addrases  gotign 1D : ~1410

izt

'wm‘-SM ) ' Lk

mmmkmunh&mn”
mmﬂﬂmmw %

4.L 53

'{f fgltﬂ'{ E.i L{;' e

;lpﬁnn ID :- 1388,%0
Answer Given:- Meeearivs Exihancetanns Mol » Option ID -1383

Options:- . S
I8 S __;h.,,,__ :
Ouﬂon,mtzm vy 12 Yo
F oo o w4
ID :- 1296, ﬂ
. Civens. VK 2USK o g L
} Question ID:- 347
The model in which the requirements e implemented by its eategary LG,
Options:-
. Evolutionary Developibent Model c’S
Option 1D :-mm/
. Waterfull Model ea.
Opﬂnnln uas,? r}. 11}"’
- kg lP e - : ||
Option ID :- 1387, T =
mmwmm af

Question ID:- 35?_




@r Question ID:- 360
_"-""’3 sE B-tree d_h_:h b. minimum degree ¢ 22 that containg any n-kes. where n 21,

i e

o Sbusbassbas
Option ID :- 1318,

» bannasbaa
Option ID :- 1320,




[-memmmmm
Consider the relational schema of sailors S. Reserves R and Boats B,
Table 1 : Sailors 8 Tabile 2 : Reserves R
| Sid [ Saame | Rarting | Age Sid | Bid | day p o g
| i | A o |ie|wiche e L
g P . % | Datn| 7|40 = |01 1010w
Sl [Lubber| & |8&5 22 | 108 | 10808 102 | -
32 29 |Brows| 1 |830 22 | 102100008 |
Andy 8 |ms 22 | 104 | 10V7/08 % s # .
31 (Lubber | & (855 |22 |10 | 1080e |
B8 | Rusty | 10 850 s | 102 | 21n0ms | 52| andy | & |[o28s 22 | 104 | io70e
64 (Hoatio| 7 |ss0 81 | 108 | 116008 To ] e | 38 itk “-*
71 | Zorba 0 180 81 | 104 | 1111208 Rusty : . 102 | 111098
64 |Horatia| 7 |350 51 | 168 | 1ves
74 |Homtio| 9o |sa0 64 | 101 | o50s 71| Zoba | 10 |180 a1 | 104 111908
o Bk Bl e ol B Dtuins 7 [Horsis| ® [3s0 s | 201 | oves
% | Bab 3 |ess 7 | 108 | weos 85| An 3 |25 64 | 102 | gos
Table 3 : Boats B 95| Bob | B |65 74 | 108 | srems
Bid | Bname | Color ‘Takle 3 : Boats B i
101 | Interlake | blue Bid | Brame | Coler
102 | Interlake | red 101 | Intevlake | blue i
103 | Clipper | groen 102 | Enterlake | red
104 | Masine | red 108 | Clipper | goeen ]
104 | Marine | red
m#mmmmMMMmthmdmhﬂwhﬂ
s i Which of the following relational algebra query computes the Sid's of sailors with age over 20
Ql 7 imame ({ Gooier = v Bots) =1 Reserves t=1Sailors) who have not reserved & red boat?
Q2  mmams (7 as(( e Seter = 3or Bouts) b=t Reserves ) o Sailors) 5
Q3 x—{(ﬁ-f_ﬂmmhhﬁﬁﬁhﬂip M ln{&h'mm-:ﬂGQ*MMHmm'
[ ]
Option ID :- 1621,
Options:- T (5 gslrs 34 A agus 20 (Boats 04 Sailors 4 Reserves))y 4
th @1 and Q2
gt ngtinnm:- 1622,
Option ID :- 1625, L%“‘“  Sailors) — xie (B M“mw
g mq’“‘@,)ﬁ ption ID :- 1623,
Option ID :- 1626, (B age ~20 Sailors) A tﬂltﬂl___ﬂ"’ ™ m""'m
Qﬂrﬂl e P
Opt!onln'-:l.lil?




Tead the following and Answer thé questions :
mwwutmnmnwmn

Table 1 ; Sailove § Table 2 : Reserves R
Sid | Sname [ Ratting [ Age Sid | Bid | day
2 | Dustin| 7 (480 2 | 101 | 1vrom8
29 | Brutus | 1 |s330 22 | 102 | 10710/08
81 | Lubber 8 555 22 | 108 | 1008008
82 | Andy § |m5 22 | 104 | 10/7/08
68| Busty | 10 |ss0 81 | 102 | 111008
64 | Haratio | 7 |380 81 | 108 | 11608
7 | Zorba 10 18.0 31 | 104 | 1112/08
74 | Horatio ] 35.0 64 | 101 | ors0s
85 | At 8 |355 84 | 102 | graps
85 | Bob B |635 74 | 103 | arams
Table 8 : Boata B
Bid | Bname | Colox
101 | Interlake | blue
102 | Inteylale | ved
103 | Clipper | green
104 | Marine | red

‘Which of the following relationa] algehra queryiqueries computes/compute the name of
sailors who have veserved boat 1037

i &
PR s ((Swg 2308 Boats) B4 Sailors) ?50&.’(“; 0 Coulor No-f&c‘h

Q2 Tomime (84 =13 (Resorves r-a8ailors))

Q8 wetw ({Swaw100 Reserves ) paSailors)

Options:-

» BothQlend Qs

Option ID :- 1629,
. Both Q2 snd Q3

Option ID ;- 163;!,
, Only Qs

Option 1 - 1631,
o PayQ2 |
Option ID :- 1632,

Answer Given;- PhQ2andQs Option ID : -:aay‘

Question ID:- 410

| Bead the following and Afwwer the questions:

mmmwmmua
 “Table 1:Ballars '  Table?:Reserves R
8id | Sname m.‘.;.r gid | Bid | day
|2 | Dutin| 7 |&@0] 22 mﬁmﬁﬁ“ﬂ-*""‘- i
|29 Brutus | 1 Fﬁ 22 102 | 107004 | o :
81 |Lubber | 8 855 22 | 108 | 10896 | &
8| Andy | 8 [255 22 | 104 | 10708
5 | Busty [ 10 [350 3 | 102 111098
64 |Horatio| 7 [380 1 (108 | 1698
| 7L | Zovba | 10 |160 31 | 104 | 11712098
74 |Howatio| o |80 64 | 101 | oves
85| An s |esa 64 | 102 | arios
95 | Bob 3 [688 74 | 108 | o908
Table 3: Bomia B
Bid | Bname | Color
101 | Interlake | blue
102 | Interlake | ved
1038 | Clipper | green
104 | Mavine | red

m¢mmwmmmmmﬁﬂnmh
reserved a red and 8 green bont®

Options:=

P (Temmpred, 5 s ({5 = zer Boats) Reserves)). p (Tempereen, s (5 e = o
o Boats) baReserves)), X mane (Tempred ~ Tempgreen) 1 Sailors ¥
oﬂﬂnl‘l m = 1“1;

?ﬂ'mhmz.wa-“um A (D= ey Boats)) 7 e (Temphoats 2 pa
Bumup

nptlunlb*-lﬁ.'ll, .
Kaaze (St = v Boats) ~ (Do = ‘pen Boats) mlhlﬂmH
Reserves))




e Ay , Option ID

25 |t B pAnT e

33 Question 1D:- 413

o the following Passage. answer the Questions :

A 3000 k. ,
i ""I ounk operates at 1536 mbps and is used to transmit 64 bytes frames and

oL The propeption speed 0 e
The a . \
T idow st g the msinan ey o fimed o \udoud dee

Question ID:- 411

A 8000 km .cdqu-ﬂ.iﬂd-ﬂb-l-_u frasnes and
wﬁlﬂ:-muuhmhmtuﬁ e

'm: ‘.t"lpl

Option, ID :- 1649,

L) a=Tp  geeoc bam
e R
Dutien 1D - 1651, S

:?lutin:'l ID :- 1652, e s
Answer Given:- “.Dpﬂonlb:ﬂ\\‘ﬂjriﬁmi\-\- \O @
: A —
@ Question ID:- 415 \_x"[ 22
Based on the following paszage, answer the Questions :

A 3000 km long trunk operates at 1.538 mbps and is used to transmit 64 bytes frames and
uges shding window protocol. The propagation speed is 8 p sec/km.

e L ) = Sendun WO Sing s
L a opiehmliin N

=- 1658, e s | o

| [omeni ez,

A 3000 km long trunk operates at 1.536 mbps and is used to transmiz 84 bytes frames snd
m-ﬁmmmmmghtpﬁ

Bmﬂmmmhmﬁtmﬁnhhdmpmh

Options:- 5
B, WA=
gl K KL

Option ID :- 1654,
0.578
- r
Option ID :- 1655, }0
L] m:
ﬂpﬁnnma-l.ﬁsji,_
28 s e

1

&

®
¥







